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Q.No: 1  Lieutenant-Governer Michael O'Dwyer was killed by-
2427970
Afeie-TTaR AEHa SRR fFed gRI AR MY 3-
Madan Lal Dhingra
A
e A GR
Sardar Udham Singh
B
R Ium Rig
Sohan Singh Makna
c
e Rig o
Kanai Lal Dutta
D

7§ I ol

Correct Ans : B

Subject : General Knowledge

Q.No: 2
2427994

Which of the following is not a feature of the Lucknow pact?

Frofafea ¥ § H-91 RS Ishia ot e 78 82

The Lucknow Pact was signed between Congress and the Muslim League.

HING 3R G A1 % f TS T W IER by g A

Judiciary should be separated from Executive.

AU BT FRITIIST o ST fan FH1 wfee|

Separate Electorates for the Muslims accepted by Congress.

PN FRT WER 75T T gt & R s Fafae deal

All the members of the Viceroy's Executive Council should be Indians.

ITWE Ft HER kg & it Gew uRd g TRT

Correct Ans : D

Subject : General Knowledge

Q.No: 3
2430694

Kochi and Karwar are examples of which type of ports in India?
Fifer 3R PRAR ¥RA H 59 TR & FETE & IR0 §?

Entrepot Ports

e drcw

Out Ports

3IE Geq

Naval Ports

AR S
Inland Ports

MPPEB 2022

PCRT-Reports

View Report View QP View Candidate Responce View Candidate Question

GET IT ON

Google Play

Submit


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

SAGRY SGg

Correct Ans : C

Subject : General Knowledge

Q.No: 4 Kharchi festival is celebrated in Tripura every year in the month of-

2431037
g ¥ R & TR B S T o g
January
A
SR
March
B
b1
July
C
g
November
D
AR

Correct Ans : C

Subject : General Knowledge

Q.No: 5 Who among the following founded the Chola Empire in the ninth century?

2435874
Fraferga & § e A 2t # =i Jeey Bt R B ot
Vijayalaya
A
T
Dantidurga
B
gt
Gopal
C
THarer
Rejendra chola
D

REEE ]

Correct Ans : A

Subject : General Knowledge

Q.No: 6  Which of the following Indian states does not form the border with Bangladesh?

2437354
e # @ &1 § R o8 e & W A T @ 2
Meghalaya

A
Terer
Tripura

B
fagar
Manipur

C
wforge
Mizoram

D
freiRA

Correct Ans : C

Subject : General Knowledge

Q.No: 7
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2440800 Maha Kumbh Mela is organised after how many years?

ey Aan fa anl & a1e iR e S 82

3
A

3

6
B

6

4
C

4

12
D

12

Correct Ans : D

Subject : General Knowledge

Q.No: 8  Where was Mansoor Ali Khan Pataudi born in Madhya Pradesh?

2440917
TR 3l W TR FT S A WS W el gl A
Bhopal
A
e
Indore
B
R
Gwalior
C
IR
Jabalpur
D
SIETR

Correct Ans : A

Subject : General Knowledge

Q.No: 9 Who among the following Indian cricketer holds the distinction of scoring the first Test century overseas?

2440937
Frofifed & § o uRd frdeR 33w & g o Tae a1 &1 7R 39 82
Kapil Dev
A
o 4@
Chandrasekhar Trimbak Sarwate
B
ERER AP T
Syed Mushtaq Ali
C
I GAID it
Sunil Gavaskar
D

G MR
Correct Ans : C

Subject : General Knowledge

Q.No: 10 Which Madhya Pradesh district has topped in issuing the most e-health IDs under the National Digital Health Mission till December 12, 2021?
2440998

12 fER, 2021 7% WP fefiea w@rea e & d6d 9ad o §-3arRa oEs! AN S 7 7T TS &1 S a1 foren Y W 82

A Indore
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RAR

Gwalior

IR
Chhatarpur

BRR
Anuppur

SR
Correct Ans : A

Subject : General Knowledge

Q.No: 11 Who founded the Chanderi City in the 10th-11th century AD?

2441120
10dt-11 et St & = WX B R A 1 e
Raja Kirtipal
A
o et
Morprahlad
B
AR
Daulatrao Scindia
C
Qe Riftrr
Raja Mardan Singh
D

o e g

Correct Ans : A

Subject : General Knowledge

Q.No: 12 In which year did the British establish the Nagar Palika in Harda?
2441137

ST A gXeT ® AR WifereT B ROl fob ay @t oft?

1866
A

1866

1867
B

1867

1868
C

1868

1869
D

1869

Correct Ans : B

Subject : General Knowledge

Q.No: 13 In which year was the district of Damoh added to Sagar district and was administrated as Sub-Division?

2441166
<H1E Ot @1 o o R R & Siet mar SiR Iu-wvm & w9 F uRnfa famar mar are
1920

A
1920
1924

B
1924

C 1928
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1928
1932

1932
Correct Ans : D

Subject : General Knowledge

Q.No: 14 Which of the following is the easternmost district of Madhya Pradesh?

2441458
o & F o 1 A vem 1 wed gdf foran 32
Ujjain
A
IS
Singrauli
B
Rt
Vidisha
C
fafezm
Guna
D
T

Correct Ans : B

Subject : General Knowledge

Q.No: 15 was declared a protected forest by the Central Government of India in 1956.
2441562

P 1956 T YR B 5 WHR R W 9 S faar man a1

Narsinghgarh Sanctuary

A
RR¥eTg yyaRTY
Karera Sanctuary
B
PRI ARG
Van Vihar National Park
C
7 fieR ugia ST
Bori National Park
D

o gt TEH
Correct Ans : A

Subject : General Knowledge

Q.No: 16 Industrial Area Pillukhedi is in which district in of Madhya Pradesh State?

2441663
i & @S] men v ooa & e o 4 92
Bhopal
A
ure
Rajgarh
B
Ricrd
Guna
C
T
Agar Malwa
D

SR AIdT
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Correct Ans : B

Subject : General Knowledge

Q.No: 17 The First Meeting of the Bar Council of Madhya Pradesh took place in which of the following years?

2441717
A TN IR SRR B Ugelt Sow Fafifea §  few o 7 g3 o4
1956
A
1956
1962
B
1962
1966
c
1966
1979
D
1979

Correct Ans : B

Subject : General Knowledge

Q.No: 18 Which of the following is the foundation day of the State of Madhya Pradesh?

2441737
Frafefea § § S5 7o 73w o0 o1 R T §2
1 January
A
1 Sadt
1 August
B
1 3
1 November
C
1 TR
1 December
D

1 R
Correct Ans : C

Subject : General Knowledge

Q.No: 19 The district of Shahdol produces higher quantity of and also exports to other states.
2441817
gt forer st AET # I HIA ¢ IR 31 et bt Fafet oft @ 21
Beans
A
el
Carrot
B
TR
Beet
c
bR
Drumstick
D
o ()

Correct Ans : D

Subject : General Knowledge

Q.No: 20 Which country is the largest importer of Indian tea?
2442437
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URAW 1 51 T F31 AMAGD o B AT 82

Russia

Iran

Iraq

ENCa
Bangladesh

Bl e
Correct Ans : B

Subject : General Knowledge

Q.No: 21 Malaria spreads due to-

2423057
2 aorE & wAR Y -
Mosquitoes
A
T
Frogs
B
5w
Dogs
c
Ea
Hedgehogs
D
Tt

Correct Ans : A

Subject : General Science

Q.No: 22 Which of the following factor determines the loudness of the sound?

2425861
Fafefea & @ o1 @ oRe @l 3 yeaa B RyiRa o s?
Frequency

A
st
Amplitude

B
AW
Pitch

C
3T Bl IR - TGd
Time period

D

g G
Correct Ans : B

Subject : General Science

Q.No: 23 What are the properties of each molecule and how they interact are taken into account to characterize the behaviour of a group of molecules called?
2425898

WS 3T P 07 AT S F G WE P AGER B UM & AT I P WER a1 3 ¢, T Hoad 82

Chemical Thermodynamics

AT SR
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B cquiuorium wnermoaynamics
TFa HEAARE
Statistical Thermodynamics
C
vt Semafiat
Classical Thermodynamics
D

RIRAT SHATARTB

Correct Ans : C

Subject : General Science

Q.No: 24 The Forest Conservation Act in India was passed in which year?

2429149

HRT & 7 TRewr iffam e o uiika fvan mar are

1980
A

1980

1981
B

1981

1982
C

1982

1983
D

1983

Correct Ans : A

Subject : General Science

Q.No: 25 A moss, the plant body is -

2429897
F FI, A FTRR T -
sporophytes
A
gametophytes
B
vascularised
C
waeh
non-vascularised
D

R-dae
Correct Ans : B

Subject : General Science

Q.No: 26 Observe the following figure given below. This organism belongs to which kingdom?
2429923

1 feu e fom 1 o @ 3w TR e fFu I w1 §
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cnidaria
A

Frefar

Ctenophora
B

FEABRT

Nematoda
C

AT

Platyhelminthes
D

IEHER

Correct Ans : D

Subject : General Science

Q.No: 27  Which amongst the following do not exhibit polymorphism?

2429971
Profifaa & ¥ S sgeua yerkia T8 s g2
Hydra
A
et
Cliona
B
AT
corals
C
qm
Physalia
D
wrgafEr

Correct Ans : B

Subject : General Science

Q.No: 28 A plastic bag dumped in the soil stays without breaking down for 500years. If a new generation starts every 30 years, how many generations would it take to see the plastic bz

2430151

gt 1 T e BT A 500 Tt qF A g2 @A ¥ 3R R 30 Wil H TF A R} g At B, O Wik oot Acft Bl SfERER ged gU A A vt difgai i

16 to 17 generations
A

16 ¥ 17 digt

10 to 17 generations
B

10 ¥ 17 digt

11 to 17 generations
C

11 ¥ 17 i

15 to 17 generations
D

15 9 17 didt

Correct Ans : A

Subject : General Science

Q.No: 29 The given figure represents the energy.
2430183
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Kinetic energy

A
It et
Potential energy
B
Huifda el
Thermal plant
C
HuiY wie
Solar energy
D

IR el

Correct Ans : D

Subject : General Science

Q.No: 30 Which of the following vegetables/fruits is grown underground?

2431625
Fafefea & 3 S5 @ S/ yftea S o 82
Carrot
A
RIEL
Beans
B
AR
Peas
c
AR
Tomato
D
THIR

Correct Ans : A

Subject : General Science

Q.No: 31  The process of conversion of into alcohol is known as fermentation.
2432206

DI ATHIRA H gaa Bt UihaT B fbva & T & ST o1 g

Fats
A

il

Protein
B

WA

Vitamins
c

e

Sugar
D

=

Correct Ans : D

Subject : General Science

GET IT ON

Google Play
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Q.No: 32 Which of the following is NOT a feature of a herb?

2432471
frofafed ¥ § $9-R e 3t fadvar 74 22
They have green stems.
A
T TR AT T
There are branches at the base of the stems.
B
T & MR & Tt e gk ¥
They are usually short.
C
F IR RBR AT
They have tender stems.
D

I U HIHd o g1

Correct Ans : B

Subject : General Science

Q.No: 33 Which of the following is a non-biodegradable waste?

2434284
Frafafed § § 1 v R-9a Frelfewia sufie 82
Vegetable waste
A
ool aflg
Paper
B
W
Plastic bottle
C
S Bt Aaa
Cotton cloth
D

it Fug
Correct Ans : C

Subject : General Science

Q.No: 34 DOTS is the treatment that was first introduced for -

2434320
Sicq (DOTS) B IR E, S & R ugeht aR w1 Rear mm |
Cholera
A
e
Typhoid
B
CRPRS
Influenza Influenza
C
TR
Tuberculosis
D

TR

Correct Ans : D

Subject : General Science

Q.No: 35 Which of the following elements is the most abundant in the earth’s crust?
2437178

FProfafed ¥ 8 919 o aa gt Y gudt ¥ T uER 7 A §2


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

A Oxygen
Sfffter
Silicon

B
Rt
Nitrogen

C

TG

Carbon

Eace

Correct Ans : A

Subject : General Science

Q.No: 36 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as 1
2422675 gyt of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

a bbc__aab__cca__bbcc

Frofafad sy & oeRl B v gaar § S 21 37 daenel ¥ 79 oaR el iu e ¥, SR A gaan & R e e fawedi A S o § ¥ 9N 8 @ wite) MR T e IR fawedt # § @ i e @
R 95 faew N S qed Iuge §

a bbc__aab__cca__bbcc

abba
A

abba

caba
B

caba

caab
C

caab

acha
D

acba

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Choose the numbers which is different from others in the group?

2426455
ferg g T # @ fawm Wem &1 7w HY?
36
A
36
24
B
24
12
C
12
42
D
42

Correct Ans : D

Subject : General Reasoning

Q.No: 38 Which of the following diagram indicates best relation between Pen, Chalk and Non-living things?
2426799
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THHIIRAd H 4 -1 SIRY Y, dld SR T9ld ISl & &l A6 3wy AdY Bl <Rldl 67

O OO

A 0.0
@
@

Correct Ans : C
Subject : General Reasoning

Q.No: 39 Select the Lettered pair that has the same relationship as given in the questions:

2426826
Sphere : Ball
I ER T T TG Y foradT Say w7 U T wne dey § §
qq : g
Circle : Disc
A
T : o
Cube : Dice
B
ARG
Line : Rope
C
=
Triangle : Cone
D

Bye : ¥
Correct Ans : B

Subject : General Reasoning

Q.No: 40 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429539
AYWC : CWUE :: CTIF : ?
I facped 1 99 B Sl AR UE F I ypR il § O G UE s U ¥ Heifti g
AYWC : CWUE :: CTIF : ?
ESGH
A
ESGH
ERGH
B

ERGH
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¢ -
ERGI
ESGI
D
ESGI

Correct Ans : B

Subject : General Reasoning

Q.No: 41 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433145 g the sequence of that series.

T2B, R4D, P6F, N8H, L10], ?

Frofefaa vy §, Someh @ iRl 3 ue Fid gea &) 7w g, S § 1 JEa gl 31 SuE] U8 9 S ¢ 6 g ©U 3 39 48 $ oy 9 Udfid Rad RM A I| 3 S 9 daious JEe

T2B, R4D, P6F, N8H, L10J, ?

Ji2L
A

Ji2L

J14K
B

J14K

JioL
C

JioL

JiiL
D

JiiL

Correct Ans : A

Subject : General Reasoning

Q.No: 42 Which answer figure will complete the pattern in the question figure?

2433204
o
0
B W IR B Uy el F Y &) g1 wwi?
0
0
00
A
0
0
B
0
0
c
0
0
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0

0]

Correct Ans : B

Subject : General Reasoning

Q.No: 43  Select the option that will come next in the given series.

2434163
A AR [1%4)
® A ?
® A
I9 faded B 797 B S €} TS e ¥ M sy
A AR =)
® A ?
® A
AN
®
A
FAN
&®
®
A
B
®
JAN
AN
&
c
JAN
=Y
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Correct Ans : D

Subject : General Reasoning

Q.No: 44 Identify the diagram that best represents the relationship among the given classes.

2435657
Football Fans, Cricket Players, Students.
I 3G B} UgaH B o Ry T A F fa Ty 1 99 ot vl a2
Peala WRiud, fhae Gerd, sm

A

B

(o

D

Correct Ans : C

Subject : General Reasoning

Q.No: 45 Rahul traveled 6 km towards north and then turned left and moved a distance of 3 km. From there, he turned left and moved a further distance of 2 km. How far is he from th

2438474
IEA A IR B 3R 6 frf B g Bt iR AR w18 geaw 3 et 3t g g ) a5l Qa8 91 g iR 2 it oIk e 97 e fiig @ fra it R 82
3 km

A
3 it

B 4 km
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4 it

5 km
c

5 et

6 km
D

6 it

Correct Ans : C

Subject : General Reasoning

Q.No: 46 My office is to the east of my house. My sister’s office is to the south-east of my office. A park is to the south of my office. In which direction is my house located with respect

2438489

I Fred MW F @@ J T 9 97 1 S R Frfad & R{o-gd & §1 R sriad & o @ ud 31 oF S g § R w e fmn # Ra 2

North-east
A

-

South-west
B

SRu-ufdm

North-west
C

IWR-uEH

South-east
D

o

Correct Ans : C

Subject : General Reasoning

Q.No: 47 When a watch shows 7 : 45, the minute hand points towards east. When the watch shows 3'0 clock, which direction does the hour hand point?

2438511
T TE G 7 : 45 R 7, < firte 39S 7d Y 9k IR clt B1 919 w1t 3:00 e &t 7, 6 Y G fobw fomm Y ok SRR el B2
North
A
IR
East
B
o
West
c
g
South
D
afgror

Correct Ans : C

Subject : General Reasoning

Q.No: 48 If the mirror is placed on the line, then which of the answer figure is the right mirror image/jpg of the given figure?
2438692
A

IR T ol Y g TS Y R @ 9, @ & wen srphdl ¥ @ $-0 ud 7dor ofy gefie
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>

@

&) (&) (&)

| ]
£y
B
B
| &

Correct Ans : A

Subject : General Reasoning

Q.No: 49  Three of the following four number-pairs are alike in a certain way and hue is different. Identify the different me.
2438887

frafefEd TR Sem-gmi @ | diF e g i ey A U@ g & M 8 ofR U@ SRIAM §1 S SN TeN-JW &I UgaH Sl

64:6
A

64:6

7:49
B

7:49

10: 100
C

10: 100

D 4:16
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4:16
Correct Ans : A

Subject : General Reasoning

Q.No: 50 Select the odd word/letters/ number from the given alternatives.

2438942
fau M fampedt & & fawm wrea/srerl/ W @1 g
6
A
6
24
B
24
a
c
a
120
D
120

Correct Ans : C

Subject : General Reasoning

Q.No: 51 Choose the group of letter which is different from other.

2439461
Sieri & IU U B YA S o A A B
EI
A
EI
OA
B
oA
AE
c
AE
10
D
10

Correct Ans : B

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440249 gratement.

The schools will close down for a week if smog persists in the capital.
A. smog continues in the capital

B. smog is no longer seen in the capital

C. The schools closed down for a week

D. The schools did not close down for a week

R T uy § g1 BT SR IF §1E TR HUF T HYH BT BT G g, T Uga HUT B IR R HYF A 7, R & FUF afd T Y T FUF A G 7
ST 3 AT S 38T |l U W & oY Tpa € W

A. TS SR S

B. e B o W Y fergan

C. & qwiig & g o s

D. T% 9l 0% W 4 T §¢

BD

BD
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BC

DA

DA

DB

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 53
2440278

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
statement.

If hand writing is good, the teacher gives good grades.
A. The hand writing was good

B. The hand writing was not good

C. The teacher gave good grades

D. The teacher did not give good grades.

3 T Y F W1 Fo AR I qolE IR B §1 FYAI BT B g T, TET Ugd FUA BT I G T I §, AR € FA i T Y 9@ $YF F 9 8
Ife FERIeRE 33T B, @ e oy I @B

A. TG 31 T

B. GGG ST eI T

C. Rer 7 oS I8 R

D. e 3 oS 5 7 e
cA

CA
BD

BD

AD

AD

DB

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 54
2440335

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
statement.

You are either a fool or a knave
A. You are a fool

B. You are not a fool

C. You are a knave

D. You are not a knave

U T vy B BT YA SR TS G TR FYA 81 U BT B I I, T IR F9A BT e R FY 9 g, SR & Ty aifhd U d 781 FA F Wa 8
qa a1 ol g @ gl &

AgnTEd

B. g T T &

C.qHT® yd &

D. §A T o eI &

AC

AC
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B DA
DA
cD

C
cD
AB

D
AB

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442027
Buy : Bought
g g famedt # § Safta Weg o1 99 IR
e : TR foran
Defect : Region
A
Q&
Money : Shopping
B 9 : =i
Schism : Diverge
C
Be @ § WM
Write : Wrote
D
foregn - forg fom

Correct Ans : D

Subject : General Reasoning

Q.No: 56 Find the amount of Rs. 8660 for 18 months at 14 %per annum, the interest being compounded semi-annually.

2423633
8660 TUA T 18 TEIA & R 14% wfer af B &R I, <t ref-arfifes 27 €, Fawr v San 31 vl = gwft
Rs.10608.8724

A
Rs.10608.8724
Rs.7890.6315

B
Rs.7890.6315
Rs.2217.8710

o
Rs.2217.8710
Rs.3678.8713

D

Rs.3678.8713
Correct Ans : A
Subject : General Maths

Q.No: 57 The present population of a town is 78100. If it increases at the rate of 7% per annum, what will be its population after 2 years?

2423658
TF FW Pt A SHEST 78100 §1 g T8 7% Ufd 9 3t R F waelt 8, o 2 o @15 3wt Siem @1 g
9870.23

A
9870.23
6089.28

B
6089.28
8765.73

C

8765.73
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D OY410.07

89416.69
Correct Ans : D

Subject : General Maths

Q.No: 58 At what rate percent compound interest per annum will Rs. 5760 amount to Rs. 6250 in 2 years?

2423675
frg R W ufaw Tl s wfoay . 5760 AR F. 2 W9 F 62507
4.20%
A
4.20%
3.80%
B
3.80%
4.16%
c
4.16%
5.20%
D
5.20%

Correct Ans : C

Subject : General Maths

Q.No: 58 Solve:

2428558
16+4-4 +25x34-75+25-[3+12-10+ 2 x 10 = 5)]
B R:
16+4-4 +25x4-75+25-[3+12-10+ 2 x 10 = 5)]
51
A
51
82
B
82
85
C
85
88
D
88

Correct Ans : D

Subject : General Maths

Q.No: 60 Express the following ratio in the simplest form.

2429419
196 : 140 : 2800
S P WXAaH ¥4 H Tad He:
196 : 140 : 2800
61:7:321
A
61:7:321
2:7:879
B
2:7:879

C 5:7:453
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5:7:453

7:5:100

7:5:100
Correct Ans : D

Subject : General Maths

Q.No: 61 A grocer has a sale of Rs 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive months. How much sale must he have in the sixth month so that he gets an aver

2432539
T YUK 3 TR 5 AEH 7% 6435 T, 6927 ¥, 6855 T, 7230 T0Y 3R 6562 0T B faw! Gt 31 B e § SUP U et 9ep! ST =119 i 34 6500 ¥l 3 i faept firer
5000
A
5000
4500
B
4500
4991
c
4991
4199
D
4199

Correct Ans : C

Subject : General Maths

Q.No: 62 What is average of 7 runs, 9 runs, 11 runs, ..., 27 runs, 29 runs and 31 runs?

2432559
7%, 9, 1179, ..., 27 T, 29 T 3R 31 A F1 3d F7 82
15
A
15
16
B
16
16.5
c
16.5
19
D
19

Correct Ans : D

Subject : General Maths

Q.No: 63 Whatshould comein place of question mark in the following number series?

2433107
(1552 +25) +16=?
Fafatad saar-@ar § Fai=g (?) F w479 T<HT A1 A018?
(1552 +25) +16 =7
5.12
A
5.12
1.87
B
1.87
3.88
c

3.88
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D 4.02

4.02
Correct Ans : C

Subject : General Maths

Q.No: 64 If the age of 10 students in a hockey team is 11, 13, 14, 16, 15, 10, 17, 19, 15, 10. Then find the average age of the students in the hockey team.

2433852
Tl U gl <M B 10 BEI @1 91 11, 13, 14, 16, 15, 10, 17, 19, 15, 10 §1 A gi@! W T SHT 3 had oy J1a ST
16
A
16
15
B
15
18
C
18
14
D
14

Correct Ans : D

Subject : General Maths

Q-No: 65  Find the value of the given equation-
2433988 44_6+43x2-87="

ToU T FHIEHRO1 HIF T B
44-6+43x2-87="

37

37
38

38
73

73
83

83
Correct Ans : A

Subject : General Maths

Q.No: 66 3 1
2434761 124 = 13, then find the value of (@+4)— (a+9)?
3 1
MRara-32 8TV T mwmEE B
364
A
364
540
B
540
440
€

440
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420
Correct Ans : A

Subject : General Maths

Q.No: 67 A shopkeeper sold 14 kg onions in Rs. 322 at a profit of 15%. If he sold the 60 kg onions at Rs. 1175 then he will get

2435254
T GHMER A 322 FF T 15% 4 W 14 .71, wel §1 af 98 60 6.0, @t 1175 F08 § 93 o I8 Ui -
a profit of Rs. 45
A
45 TqY HT A
a loss of Rs. 25
B
25 ¥ B T
a profit of Rs. 35
C
35 ¥94 HT A
a loss of Rs. 15
D

15 39 FI g

Correct Ans : B

Subject : General Maths

Q.No: 68 A jar contains a mixture of mango juice and water in the ratio of 22: 3 respectively. 50 liters of mixture was taken out and 25 liters of water was added to the jar. If water was
2435444 jpjtjal quantity of mixture in the jar? (In liter)

TF IR & HO: 22:3 F SFJUd § o &7 77 3R Ut F1 frsror 31 398 § 50 offex Frsyor Fepren o § ok 9R # 25 offex art Sren e 31 afe afvomd fisor & 349% urh o1, 6 39 oR & fAyora

175
A

175

125
B

125

150
C

150

75
D

75

Correct Ans : B

Subject : General Maths

Q.No: 69 ;. . 0 s ned 3 s
3437512 I the given option Which of the fractions is greater than " and lesser than 6?
feg g famea d S @ a9 ot g SR A dA R
1
A
1
2
2
3
B
2
3
C

[LRFS


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Correct Ans : C

Subject : General Maths

%1'\1307:9205 What should comein place of question mark in the following number series?

37=18 x24 — (9683 +23)

Rt dear-gae § g3t (2) F a1 I FT AW A0igq?

Y7=18 x24 — (9683 +23)

1000
A

1000

1728
B

1728

1331
Cc

1331

1225
D

1225

Correct Ans : C

Subject : General Maths

Q.No: 71 If SHARP is coded as 58034 and PUSH as 4658, then RUSH is coded as?

2426497

i SHARP B 58034 3R PUSH &I 4658 & &0 N $If3a fawan Siram B, df RUSH &1 Feas faar smam?

3568
A

3568

3658
B

3658

3685
C

3685

3583
D

3583

Correct Ans : B

Subject : Mental Ability

Q.No: 72 In a certain code language, “Birds Can Fly” is coded as "Lo Li La". "Birds Have Wings” is coded as “Lr Lo Ls". “Animal Have Leg” is coded as “Ls Lu Lp". How will Wings be writte

2434412
& AfEd HIs uT #, "Birds Can Fly" 31 "Lo Li La" % ¥4 # gfed a1 T §1 "Birds Have Wings" &1 "Lr Lo Ls" & ¥4 § gfed faan T §1 "Animal Have Leg" ®1 "Ls Lu Lp" & &4 # &f
Lp
A
Lp
Lr
B
Lr
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Ls

Lo

Lo
Correct Ans : B
Subject : Mental Ability

Q.No: 73 If ‘GOBBLER' is coded as ‘SFMACPH’, then how is ‘PAINTER’ is coded?

2434448

If& *\GOBBLER’ ®1 ‘SFMACPH’ & &0 H geag a1 S , @i ‘PAINTER’ &1 358 Geas faar s

SFVMIBQ
A

SFVMIBQ

SFUMJIBP
B

SFUMIBP

SFUMIBQ
c

SFUMIBQ

RFUMJBQ
D

RFUMJBQ

Correct Ans : C
Subject : Mental Ability

Q.No: 74 In a certain language, ‘PEN’ is coded as ‘70’. How will ‘BOYS’ be coded as in that language?

2434971

e Ry e &, 'PEN' B '70' & 9 H forar rar {1 I 411 F 'BOYS’ B Y forar wwwmm?

98
A

98

114
B

114

122
c

122

140
D

140

Correct Ans : C
Subject : Mental Ability

Q.No: 75 In question below are two statements followed by three conclusions numbered I, II and III. You have to take the given statements to be true even if they seem to be at varian
2435484 (f the given conclusions logically follows from the given statements.

Statements:

1. Some pencils are pens.

I. All pens are markers.
Conclusions:

1. Some markers are pencils.
II. All markers are pencils.

III. No marker is a pencil.

F g T e B @ HuA SR I9F a1g AT e 1, 11 $IR 111 3T T ) S AT T e 6 W WA E, 4 € 3 W qedi @ P i 91 11 R R T o 6 i e fon e e
FU:

1. $9 SR 9§l

L. et 9 AR §


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

sy
1. T AR U@ §I
11, oft wrdh U §
111 B AR IR 76§

All the conclusions follow.

A

Tt e arERor e B

Only conclusions I follows.
B

Faq Fpy 1 SR FRar Bl

Only conclusions II and III follow.
C

Faa Fred 1T 3R 1T TR0 4 &1

Only conclusions I and III follow.
D

Faq fepy I 3R 111 3FeR 4 g
Correct Ans : B
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, IT and III. You have to take the given statements to be true even if they seem to be at varie
2435544 \hich of the given conclusions logically follows from the given statements.

Statements:

I. Some walls are doors.

II. Some doors are chairs .
III. Some chairs are tables.
Conclusions:

I. Some walls are tables.
II. No wall is tables.

II1. Some doors are tables.

= 4 T wy ® 9 S OIR I9F @G i e 1, 11 9 111 3T e 1 et AU T et @) I A |, 91 3 W i aal § e wdla g ], et Rt v € f o e aeer
FU:

1. 3% R AN g

1I. $B ™ FEf 5

IIL. 3o $f 7w 81

e

1. $& daR A 21

11. B ¢IR 7 781 81

1II. B WA I g

Either conclusion I or II follows.

a7 Iy 147 T1 SRR & 1

Neither conclusion I nor III follows.

T fAepe 1 3R T € 111 SR R B

Only conclusion III follows.

el e TII SRR ST 81

Both conclusions I and II follows.

Bt e 1 3R II SRR FRa 7
Correct Ans : A
Subject : Mental Ability

Q.No: 77 If 12 cuts are to be made on a cube, then what is the maximum possible number of identical pieces that can be formed?
2438436

I TP O W 12 HT T 8, T GHH ghgl B SHaH H4d G& [l g Tall 82
A 64
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64
125

125
112

112
874

874
Correct Ans : B
Subject : Mental Ability

Q.No: 78 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439103 (ecide which of the given conclusions, if any follow from the given statements.

Statements:

All medals are pedals.

Some pedals are not noodles.
Some noodles are not daffodils.
Conclusions:

I. Some pedals are medals.

II. Some pedals are daffodils.

2 Ry e vy F T HuT au I9F gy 3§ P 17w 11 Re e 1 smuet Ry T w5 S w9 A, 43 8 9g wdaa aat § i weha 91 8 Ut Sl & SR W ST U SR & §
FY:

Wit Asa Tea B

P9 I5u T T ¢

TO 5 ST T B

frspy:

1. 79 IS Fsa ¢

1. 3% tga SwEE ¢

Only conclusion I follow

Faet ey I TR AT

Only conclusion II follows

Faa Frepe 11 SER H% &

Both conclusion I and II follow

frepd 1 3R 11 G TR A §

Neither conclusion I nor II follows

TN Fpe 1 T 11 SR e B
Correct Ans : A
Subject : Mental Ability

Q.No: 79 If book is called notebook, notebook is called pen, pen is called pencil, pencil is called bag, bag is called class and class is called blackboard. Where a child put on his books?

2439217
e Tih 1 1T Bel 1Y, egd B 0 el 9y, U 61 Gy Hg1 S, Ry 61 &7 T WY, A1 I G BT A R Y Sl KBS Bl S| T Fedl (U b el gl
Blackboard
A
RS
Bag
B
a1

C Class
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Book

9%
Correct Ans : C

Subject : Mental Ability

Q.No: 80 1If ‘eraser’ is called ‘box’, ‘box’ is called ‘pencil’, ‘pencil’ is called ‘sharpener’ and ‘sharpener’ is called ‘bag’, what will a child write with ?

2439286
e R 1 'S Hgl WY, S P IR el WY, U F WER AR AR B AT 1 S, A T T B WY @
Eraser
A
TR
Box
B
Cics)
Pencil
c
LIk
Sharpener
D
MR

Correct Ans : D
Subject : Mental Ability

Q.No: 81 Suresh is 7 ranks ahead of Ashok in the class of 39 students. If Ashok’s rank is 17th from the last, then what is Suresh’s rank from the start?

2439534
39 faarnfidl 3t v Han ¥, T, =ie J 7 ug M B AR SRNF 1 U, N F 171 B, o G FT1 UG A F 1 me
L6t
A
164
23ud
B
23di
24th
C
244
15t
D
154

Correct Ans : A
Subject : Mental Ability

Q.No: 82 If E = 5 and AMENDMENT = 89, then SECRETARY = ?

2442202
If% E = 5 3R AMENDMENT = 89 §, Gl SECRETARY = ?
115
A
115
112
B
112
114
c
114
100
D

100
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Correct Ans : C

Subject : Mental Ability

Q.No: 83 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2442784
CARDAMOM
fRw U defres wedl # ¥ 7% ea IFT S AT T YT F 1R B IRNT R TG S o Wl
CARDAMOM
Card
A
Card
Mad
B
Mad
Road
C
Road
Cart
D
Cart

Correct Ans : D

Subject : Mental Ability

Q.No: 84 Which one word can be formed from the following letters ?

2442862
d aryboen
ool siarl § F1F 91 U@ Tes SR o Wbl 82
d arvyboen
boldfaces

A
boldfaces
boneyard

B
boneyard
backslide

C
backslide
backswing

D
backswing

Correct Ans : B
Subject : Mental Ability

Q.No: 85 From the given alternatives select the word which cannot be formed using the letters of the given word.
2443002
PERSONALITY

Frafied fasedl o § 95 Wes 9T S AU TTU 5 & SRl &1 TR X 161 Sl o gadr?
PERSONALITY
REALITY

REALITY
REASON

REASON
PERSON

PERSON
D ROYALTY
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ROYALTY
Correct Ans : D

Subject : Mental Ability

Q.No: 86 A and B can do a piece of work in 64 days and B in 60 days. They work together for 9 days and then A goes away. In how many days will B finish the remaining work?

2423745
A SR B & T $1 64 1 # iR B, 60 f&H § 3= 9% §1 3 9 A 7 & Uy 1 Xa § 9fR R A e 5 81 99 rf &1 B e feit & W wwm?
2431/18 days
A
2431/18fF
3300/64 days
B
3300/64 &7
1209/12 days
c
1209/12 f&3
1671/14 days
D

1671/14 f&A
Correct Ans : B

Subject : General Aptitude

Q.No: 87 A and B can do a piece of work in 11 days; B and C in 13 days and A and C in 17 days. In what time can they do it, all working together?

2423761
AMRBIE I FT 11 R A R B §; 13 AT A B iR € 3R 17 AT H A IR . 3 it U% W1y & Fxdl gU 3R e T §f IR I&d 82
8765/23 days
A
8765/23 &A1
2578/161 days
B
2578/161 17
3421/151 days
C
3432/151 1
2431/551 days
D

2431/551 17
Correct Ans : D

Subject : General Aptitude

Q.No: 88 If one side of a square is 4 cm then, find its area.

2426190
Tt o 3 ©F Yo 4 Tft ], < ST A6 I FifvTC
12 cm?
A
12 &R
5 em?
B
5 3
16 cm?
Cc
16 JHR
10 cm?
D
10 &#HR

Correct Ans : C
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Subject : General Aptitude

Q.No: 89 Find circle’s diameter if circle’s area is 198 em?.

2426211
I Tehet T aTAm 198 AN § ot Tehel T T 3o
16.77 cm
A
16.77 iR
14.99 cm
B
14.99 ¥dfiex
18.33 cm
C
18.33 ¥R
15.88 cm
D
15.88 ¥difiex

Correct Ans : D
Subject : General Aptitude

Q.No: 90 Calculate the cube’s surface area if length of each side is 6 cm.

2426215

I YdF vy P s 6 it B o O & T &F B M0 BRI

126 cm?
A

126 T2

216 cm?
B

216 TFR

160 cm?
C

160 32

120 cm?
D

120 F#R

Correct Ans : B

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 9?

2427609
Fofifea & 3 oF 9 3 Rvrsa &2
876435689

A
876435689
891287544

B
891287544
982834677

c
982834677
93480912

D
93480912

Correct Ans : C

Subject : General Aptitude
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QUNO: G2 e e e e e e <
2427622
Fofifea § 3 o1 6 3 favrsa &2
3467853216907
A
3467853216907
86532368042
B
86532368042
43321556679
C
43321556679
5678765422578
D
5678765422578

Correct Ans : D

Subject : General Aptitude

Q.No: 93 Which of the following is divisible by 13?

2427635
frofafea ¥ 8 $9 13 3 fausg &2
3048501
A
3048501
3941038
B
3941038
7893125
c
7893125
1948403
D
1948403

Correct Ans : C
Subject : General Aptitude

Q.No: 94 My mother is twice as old as my sister and my father is 24 years older than me.At the time of my sister's birth I was 5. My sister is 25 now.What is the difference in the age of

2431190 3§ of &} oy A F57 B Y Y <A § SR AR e oY oy AR oy F 24 9 3ifdes B1 AN 957 F 9 F 9wy B 5 9 7 41l B w57 9 oy st 25 af §1 W Awar-far B g & g @ iR

3 years.
A 3af

4 years.
B 4

5 years.
& 5
D 6 years.

6 T

Correct Ans : B

Subject : General Aptitude

Q.No: 95 How many pairs of x and y satisfy 3x + 6y = 18 and 9x + 18y = 57?

2431201
x 3R y & e T 3x + 6y = 18 TUT 9x + 18y = 57 HI TGP Fd &2
2
A
2
1
B
1
0
c
0
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3
Correct Ans : C

Subject : General Aptitude

Q.No: 96 The angles of a quadrilateral are In ratio of 6 : 5 : 7: 2. The largest angle of the quadrilateral is equal to the largest angle of a triangle. One of the angles of the triangle is 31 ¢
2431345 f the triangle?

TH IR FH 6:5:7:2F U A ¥ | I 1 i By, My F I B0 F R B 1 By 7105 Fo1 1AM 31 S § | Bye F @g S w1 9= 331 € 2

A 29 degree
29 &t

B 31 degree
31

c 23 degree
23 &k

D 27 degree
27 f&h

Correct Ans : C

Subject : General Aptitude

Q.No: 97 There are two cuboidal whose dimensions are length, breadth, and height are respectively 23m, 30m, 40m and 30m, 12m, 44m. Which box requires the higher amount of mat

2433780
@ oy ¥ et fomt ofar, et ok Sané wwwr: 23 1, 30 3, 40 7 SR 30 3, 12 7, 44 M &1 Ry S @ TR F R e e § 9l 9 srawge gid 2
First Box
A
e St
Second Box
B
T Sl
Neither first box nor second box
C
7 <t v e iR 7 & g e
Can’t be determined
D

Fruffee Tt fvan <1 e

Correct Ans : A

Subject : General Aptitude

Q.No: 98  The trapezium shape of pipe. If the pipe is 10 m wide at the top 6 m wide at the bottom
2433809 44 the area of cross-section s 72 m? determine its depth.

TTET FT AR AT AF g T sfid ux 10 Az iET g e 6 AexAETE
AT HIT-FFITFT AT 72 RI12<2 T ZHAT TTETE, I F4)

10
A

10

20
B

20

30
C

30

9
D

9

Correct Ans : D

Subject : General Aptitude

Q.No: 99 Find the sum of their ages, if the ratio of the ages of two students is 5 : 8 and the age of one of them is greater than that of the other by 15 years.
2436893
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Yl &l SHET Pl Y P SFUId 5:8 § IR 3TH H Ud ] Sy IR pI HIY A 15 d¥ 3Hiyd g, dl 3Pl Y DI T Jld Pplisiy|

60 years
A

60 af

62 years
B

62 T4

64 years
C

64 df

65 years
D

65 3§

Correct Ans : D

Subject : General Aptitude

Q.No: 100 What should come in place of question Mark *?’ in the following number series?

2444753
2, 10, 30, 68, 130,
Frafaied W o & uA fig 27 & RIF W 371 SIg?
2,10, 30,68,130,
216
A
216
222
B
222
250
C
250
210
D
210

Correct Ans : B

Subject : General Aptitude
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